Binomial formula

1 (atb)* = a*t+2ab+b?
2 (a-b)*=a*-2ab+b?

3 (a

72
a) (r+s)*

d) (x +2y)?
g) (25 + 2x)?

73
a) (X —y)’

d) (4m — 5)?
g) Ox—2y)y

74

a)(x+3)(x-3)

d) (7x + 4y)(7x — 4y)
g) (2d + 3e)(2d — 3e)

75
a) (a2 + 1)

d) (2b> - 4y
g) (2m? - 3n*)?

examples

b) (k + 3)2
e) (3k + 4m)?
h) (9a + 2b)>

b) (a—3)?
e) (bm — 5)?
h) (5d — 2e)?

b) (5 tk)(5 —k)
e) (Su+12)(5u-12)
h) (5v + 3w)(5v — 3w)

b) (3a® + 5)?
e) (4x* + Sy?)?
h) (0,5p* + 4q*)?

b)(a-b) = a2-b?

c) (9 +x)
f) (7d + 2¢)?
i) (8m + 5n)?

) (m )
) Gk -4y
i) (5x— 7yy

¢) (5 + m)(5 —m)
f) (2k + 3m)(2k — 3m)
i) (4e + 5)(de — 59)

c) (b*-3)
f) (6m? - 8n2)2
i) (7e — 3f2)2



76

1 3 1

Q) G+3a) b) rs)
d) (§x+%y)2 e) (§m+%n)2

77

3 1 3 1 1 1 1 1
a)(gp+zq)(§]?—19) b) (§X+EJ/)(§X—§)/)
d) (3a* + 4b?)(3a% - 4b?) e) (b*+ 1)(b*- 1)

78

Berechne mit Hilfe der Binomischen Formeln.
a) 322%; 242, 432 b) 48%; 67% 882

d) 3042, 298% 1001> e)64 -56

g)47 - 53 h) 119 - 121

79

a) (3a-5b)>-(a-4b)(a+4b)-(2a+7b)

b) 4x+1)-Bx+1)3Bx-1)-(7x-3y)3y + 7x)
c) (4m+n)*> +(2m - 5n)(2m + 5n) - (m - 3n)?

d) 5p-2)*-(3-4p)*-(4-p)4+p)

¢) (6a-b)>+ (6a-b)6a+b)-(6a+Db)

f) Gx-7y)*-(7x-3y)y - (7x - 3y)3y + 7x)

80

a) (a+t4)y+((@+1)a-1)

b) (2a + 3b)(2a - 3b) + (2a + 5b)(2a — 5b)
c) (Bu-8v)*-(6u-4v)(6u+4v)

d) 9p +49)* - (2p +39)(2p - 3q) - (6p - q)*
(0,5r +0,1s)? - (0,1r - 0,2s)?

C) (%u—%v)2
14
f) (ga—7b)

¢) (0,2a + 0,3b)(0,2a — 0,3b)

) (¢ + m')(k° -~ m)

c) 732, T7% 942
f) 92 .88
1) 1005 - 995



7/ 81x2+180x+100

7/ 64x2+96x+36

7/ 25x 2 -40x+16

7/ 36x % +84x+49

7/ 4x?-32x+64

7/ Ox 2 +48x+64

7/ 64x2+32x+4

j/81x2-90x+25

‘l/ 16x2+24x+9

7/ 25x2-20x+4

7/ 4x2-40x+100

7/ 4x2-12x+9

‘l/ 64x2+64x+16

7/ 100x 2-60x+9

7/ 81x2+162x+81

7/ 36x2+84x+49

7/ 36x2+120x+100

‘\/ 4x?-4x+1

—/ 9x2+60x+100

—/ 81x2-90x+25

—/ 81x2-144x+64

)/ 25x2+90x+81

1/ 36x2+96x+64

‘\/ 4x%+4x+1

)/ 16x? +56x +49

—/ 100x?-160x +64

—/ 100x2-80x +16
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50a* —200a + 200 =
128x* =98y = |(

+3x)°
+36y° =(10x+ )’
D -0
_ y= - - D-( |+
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